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Het 2 =322 93,781 98, 181 A 4,400
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OJIEtHl & 17,700 20,600 A 2,900

—JIEt AR 8 EIIHIS 15,100 18,000 22,900
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— ZH & 220,000 200,000 20,000
307 Q120 & 160,000 185,000 A25,000
05 0I2te &t 2 160,000 185,000 A 25,000
O=2s ¥A8Y 160,000 185,000 A25,000
401 A2 HIZL 2 ThYI 447,000 398,000 49,000
01 Al&t] 444,000 395,000 49,000
O=2% 935 L SHS HASZFH (1892) 180,000 120,000 60,000
25 XH4 22 48,600 56,000 AT,400
ogses x5 e 28,000 32,000 A4,000
OMYTSANSA HEDH L AL 39,500 45,000 A5,500
OMESHARA S A 9,500 10,000 A500
OARIBIAIR A S Atgr 12,100 13,000 A900

OSUEHARA 25 FIFAFY Y

YLber | A X 18,100 26,000 A7,900
OXSHARA QET M 3EA U 2HEEH 21,900 18,000 3,900
OBTHARA ASFHMX L HEHY 9,900 7,000 2,900
OUWOIS=DIME A+c2 DA 0 10,000 210,000
OANEAb =& & H 17,400 18,000 A 600
OANEAM HHX Jo2H 19,000 0 19,000
gz 209, 150 209,200 A50
201 YUBH2 Y] 209, 150 209,200 A50
01 At 22l 950 1,000 A50
OYsk4 Y 950 1,000 A50
— ML LBLEE 950 1,000 A50
HH2A LY (3 HD) 85,680 87,680 A2,000
Jl=2tl 85,680 87,680 A2,000
ol =224 85,680 87,680 A2,000
201 LEHR Y| 18,880 20,880 A2,000
01 At 22l 18,880 20,880 A2,000
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